7|88 AEdEY A
719 At RSx4 (Sl @ H9)
= o )=
Bopnm f} Zﬁn ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
37 27,068,876 24,563,163 2,505,713
Zs 27,068,876 24,563,163 2,505,713
folUxZT g 24,304,004 23,011,237 1,292,767
AAA}YL L 1,270,418 1,157,125 113,293
O3R! 4,908 4,908 0
FYLAFA L 4,908 4,908 0
1. AGA-gAF 4,908 4,908 0
7}, st G A 2,734
1) $odgx 210-01 25,0009 x22%= 550
2) AE A= 210-01 |10,0009 x 50%-= 500
3) 9y8 210-01 |14,0009 x 31 x 24| k= 84
4) 2] 210-04 |7,0009 x50 = 350
5) 7FA1H) 210-04 |3,0009 x50 = 150
6) AT (ARh) 210-06 |100,0009 x 28 = 200
7) &3 230-02 |15,0009 X604 = 900
= R AE RS RS SR o 2,174
1) $938x 210-01 20,0009l x17%= 340
2) A= 210-01 10,0009 X 40%-= 400
3) Y= 210-01 14,0009 X 3vl] x 24| 7= 84
4) An] 210-04 |7,0009 x40 = 280
5) 7HA1H] 210-04 |3,00091 X409 = 120
6) A (AR 210-06 |100,0009 x 27 = 200
7) 23 230-02 [15,0009 x50% = 750
A5G F4s) 6,445 6,195 250
AT FeddFA 4 6,445 6,195 250
1. AREFdsusEd 4,845 5,195 A350
7h A A A A 3.845
1) gz 210-01 |20,0009 x4%= 80
92) 7H411) 210-04 |3,000€1 X140 = 420
3) A3 n 210-15 (20,0009 x 1407 = 2,800
4) ¥ 93] 230-02 [15,0009 %139 = 195
5) At (5E) 350
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PARU R B et el e A S R ! (Sl @ H9)

Repmy 8% | = AR Apedel 2= NESE 20179 (A) | 2016W([B) | Z#(A-B)
Sl | A | A ) o R - - o
7P 71 310—-01 |200,0009 x 1= 200
W) x3} 310-01 |150,0009 x 1% = 150
U A 1,000
1) @571 210-01 |250,0009 x4 = 1,000
2. AT FAF R 3}A5 1,600 1,000 600
7F AR FF A S 1,600
1) w7 210-01 |800,000¢) x 2% = 1,600
A YAAH T 5,750 4,530 1,220
IR ) 1,180 1,180 0
1. ZFZEA 1,180 1,180 0
7F w3 EA 1,180
1) L8z 210-01 (20,0009 X 6% x 23] = 240
9) a2z} 210-06 (80,0009l x 4™ x 23] = 640
3) & 2] 3 230-02 |15,0009 x 10 x 23] = 300
GRS 4,570 3,350 1,220
1. QAHARE) S8 1,230 1,230 0
7} g A H 3 1,230
1) A=y 210-06 |80,0009 X3 x 43]= 960
2) &3] 230-02 15,0009l x99 x 23] = 270
2. B Y5} 1,070 810 260
7h w9 rltE vt 1,070
1) $a38F 210-01 |20,0009 x6%= 120
2) At 210-06 (80,0009l x5 x 23] = 800
3) & 9] 3 230-02 |15,0009 X 10 = 150
3. ZUMAEFFR 2,270 1,310 960
7F A -3 2,270
1) L8z 210-01 |20,0009 x 20%= 400
2) A7 A= 210-01 |7,0009 X 50% x 23] = 700
3) AEZG 21006 |40,000¢1 X6 x 43| = 960
4) ¥9l3 230-02 |15,0009 X 77 x 23] = 210
A HEFAAA R 420 420 0
AT AR 420 420 0
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718 AR R SA 93 (9] - )
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
L A3 AH R A 420 420 0
7h A IALS] A 3] 420
1) 893 230-02 15,0009 X 79 x 43]= 420
8] A 2 QAL B g 4,140 4,140 0
B A T QAL 2] 4,140 4,140 0
1. B 537 LAAL# 530 530 0
7h WS A A AL A 3] 530
1) a2y 210-06 (80,0009 % 27 x 23] = 320
2) & 9] 3 230-02 (15,0009 X7 x 23] = 210
2. LI FALAFAF 3,610 3,610 0
7h WA 1550
1) 98+ 210-01 20,0009 x12%F= 240
2) A3 210-15 |10,0009 X504 = 500
3) @23 230-02 |15,0009 x 7% x 23] = 210
4) 2] 310-01 |7,000€l x50 = 350
5) A (AR 250
7 78 310-01 |160,00091 x 1= 160
W) x3t 310—-01 |90,000€ x 1= 90
L S A SARAA A 2,060
D eog= 210-01 20,0009 x12%= 240
2) A 210-15 10,0009 x 807 = 800
3) & 9] 3 230-02 15,0009 X7 x 23] = 210
4) 21H] 310-01 7,000 X809 = 560
5) AR (4R 250
71 7|5 310-01 160,000 x 1= 160
W) x3t 310—-01 |90,0009 x 1= 90
T A P E =] gIA}7] A = 1,248,755 1,136,932 111,823
TAYEXA Y 1,248,755 1,136,932 111,823
1. 4Z&353]e9 3,000 3,000 0
7F AR =S 3 E XY 240-01 |1,500,0009 x 2% = 3,000
2. WEATEA AN X 1,245,755 1,133,932 111,823
7h WA FARI A H A Y 1,245,755
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AU S s A=Y 2017 (A) 2016 (B)
1) 71¥2F 110—02 |1,601,0909 x 389 x 129 = 730,098
2) A7 LRI 110-02 |205,3509 X388 x 129 = 93,640
3) 7ESY 110-02 |70,8309 %24 x12€= 20,400
4) A B 25 110-02 [294,7609 x 97 X 487]= 10,612
5) WE K ZH| 110-02 60,0009 x38™ x 129 = 27,360
6) FA1H 110-02 [80,000¢1 X387 x 129 = 36,480
7) A}k 110-02 |1,037,850¢1 x 389 = 39,439
8) MA B 7] 110-02 |500,000¢) x 387 x 23] = 38,000
9) A7 o= 110-02 |500,0009 X 3878 = 19,000
10) =& E 1) 240-02 400,000 x 389 = 15,200
11) &= 320—04 2,957,7709 x 387 = 112,396
12) =Wl 320-04 1,202,0009 x 387 = 45,676
13) A7 23 320-04 817,340 %38 = 31,059
14) =37 2.9k 3 320-04 |53,5309 %389 = 2,035
15) 18+ 3 320-04 400,640¢9x38%= 15,225
16) AHA1 K3 320—04 240,390¢ x38W= 9,135
1,165,565
123,218
101,560
L EZTASAYFAF 11,490
(A U R 11,490
1) $98= 210-01 |40,0009 x16F x53]= 3,200
2) A2 A2 210-01 18,0009 X 100%= 800
3) s 210-01 |14,000€ x 3w x 20| k= 840
4) 211) 210—04 | 7,000¢ X307 x 23] = 420
5) 7HAH] 210-04 |3,0009 x 307 x 23] = 180
6) A (dEh) 1,500
7hH 71 & 210—06 100,0009 x 2% x 53] = 1,000
) %3 210—06 50,0009 X 21 x 5A]7}= 500
7) ARl 2} E 210—07 700,0009 x 1t x 23] = 1,400
8) A& 210—15 25,0009 x 30 x 33] = 2,250
9) 393 230—02 15,0009 X 30 x 23] = 900
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Wi 5] 2% (5] : 29)

o A=)
?};3 ﬂg Aol el B Ao 20179(A) | 2016€(B) | =7 (A-B)

2. 35RAAREIAF 2,570 2,570 0

7k @ A% 2,570

1) L98= 210-01 |20,000€9X10F *x53]= 1,000

2) A=A 2 210—-01 |8,000¢ x50%= 400

3) Yus 210—-01 |14,000€ X 35 X 104 7k= 420

4) 7 e (4R 750

7h 7] = 210-06 |100,000¢ x 1% x538]= 500

W) x3 210—-06 |50,000¢ X 17 X 54| 7k= 250
3. 5 FARIG3A Y 87,500 83,000 4,500

7} St EEE A A 9,000

1) 2= 620-03 |1,500,0009 x 43= 6,000

2) 38w 620-03 |1,500,0009 X 23= 3,000

o s goke 9 78,500

1) 258w 620—-03 |2,000,0009 x 238 = 46,000

2) 32,500

7h &9 620-03 |2,500,000€ x 98] = 22,500

) A 620—10 |2,500,000¢ x 48] = 10,000
aIAAENERF 11,118 10,606 512
1. A AR A AN DRRF 11,118 10,606 512

7}, AV8] 7R o S A ks 9,850

1) S98= 210—-01 20,0009 X 20%= 400

2) A2 A2 210-01 |7,00049l X 425% % 23] = 5,950

3) AESTT 210-06 [40,0009 x10% x 83]= 3,200

4) o3 230-02 |15,000€1 X109 x 23] = 300

L A3 A o st A g A 1,268

1) $98= 210-01 |20,000¢ X 25%= 500

2) 9418 210-01 |14,0009 x 30} X 44| 7k= 168

3) A (R 600

71 7|5 210-06 |100,000¢ x 27 x 23] = 400

W) =3 210—-06 |50,000¢) X 27 x 24| 7k= 200
FAA &L P 8,000 8,000 0
1. ZJAIN a5 EFA Y 8,000 8,000 0
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(9] - )

Abiu < == A= AEU S 20179 (A) | 2016€(B) | SH(A-B)

7h Z oA w3 A 8,000
1) 258w 240-01 |1,000,000€ x 4%l = 4,000
2) =8k 240-01 |1,000,0009 x 29 = 2,000
3) 158w 240-01 |1,000,000¢ x 2% = 2,000

£74 89 2,540 2,540 0

L. YAt a2 g4 4 2,540 2,540 0
7y, F A8 92 1540
1) $ogx 210-01 |20,0009! X 5% = 100
2) A+ 720
7} 7= 210-06 |80,0009 x 2% x 38| = 480
) ¥ 210-06 |40,000¢ X 27 X 34| 3t= 240
3) A 210-06 |40,00091 x4 x 33]= 480
4) o3 230-02 |15,00091 X 8% x 23] = 240
th Sl sh ek wA o W] E9) .8 1000
1) £98% 210-01 50,0009 X 13F= 650
2) 28] 310-01 |7,0009 %107 x 53| = 350

67,682 67,506 176

i 24 67,682 67,506 176

1. SHAZA A 67,682 67,506 176
7h A TR e e L 2082
1) Logex 210-01 20,0009 x10%= 200
2) Yy 210—01 14,0009 X 3vl] x 6A]ZF= 252
3) 2] 310-01 |7,0009 x40% = 280
4) 7+ 310-01 3,0009 x40 = 120
5) A (dnh) 1,830
7hH 7] 310-01 [160,0009x394= 480
W) %3 310-01 [90,0009 x 3% x 5A|7k= 1,350
L, 225w 3 g3ty 65,000
1) $98= 210-01 |10,0009 X5%= 50
2) & o3 230-02 |15,00091x10%= 150
3) =3l 64,800
7Y S 620-03 |10,800,000¢ X 61.= 64,800
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(9] D)
A S = AU S 20179 (A) | 20169 (B) | TH(A-B)
4,665 1,559
A HATE AL 4,665 1,559
1. 44933t 2,415 0
7t WS A4 | st
1) AA4g TS 70,0009 X 19 X 303] =
2) 2] 7,000 X 157 x 33] =
2. RN HAEA A3 2,250 1,559
7h AR A Az
1) +98% 30,0009 X 13% x 23] =
2) 91% 14,0009 x 3wl X 24| 7k=
3) ZrEk] 40,0004€l x 97 x 23] =
4) Z¢ALr (A ) 100,000 x 21 =
5) 293 15,0009 X 9™ x 53] =
[ i R TS o
1) 2578 150,000€¥ x 9% =
6,060 0
A 6,060 0
1. AR E AL GA AARNERFLA = 3,560 0
7t A AR
1) >4 8% 20,0009 x 22% =
2) 21H] 7,000 x 407 =
3) 7k2H] 3,000¢] x 404 =
4) AR (AW
7P 7)1 5 160,000 x 27 =
) =7 90,0009 x 27 =
5) zterelata 600,0009 x 1t =
6) 3&n] 30,0009 x40 =
7) d2] 3 15,0009 x 89 =
[ R i R RO -1
1) +98+% 20,0009 X 3%&=
9) A=tk 80,0009 x 394 =
2. AL EA AL 2,500 0




R

AF A= E 20179 (A) | 20161 d(B) 7 (A-B)
b S R R A s P | 210-01 250,000€ X 10F= 2,500
199,917 78,604 121,313
£43 1,740 1,740 0
1. 554994389 1,740 1,740 0
7} &3 g% 210-01 |20,00091 X 5%= 100
L}, Al 210-06 |80,000¢) x4 x 43]= 1,280
o}, ¥ 9 3 230—-02 |15,0009 x 8 x 33]= 360
EE-1 2= S )| 59,272 57,232 2,040
1. ESSALAESY 59,272 57,232 2,040
7 AAEF 04 A AE 2% 59,272
1) 22 13Y 34,950
7h S ST ZE - 210-12 |40,0009 X559 x 83 = 17,600
W) 7fEA Y zg 7389 210-12 |200,0009 X404 = 8,000
th FHEA ALY 210-12 |100,00091 X 10%d x 23] = 2,000
2 zFelxts 210—07 | 600,000€ x 6t)= 3,600
) wYASFTZE 73889 210-15 [30,000¢ x 35 x 33| = 3,150
v &R 22 210-15 |5,0009 x 1207} = 600
2) 712 3,000
7hH &9 4= 210-01 |25,000¢) X 20% X 43]= 2,000
W w7 Z A A 210-09 250,000¢ x 43 = 1,000
3) S5 R LAlE o) 9,750
7h 3| o9H) 220—01 20,0009 x 39 x1623]= 9,750
4) Z3A e (4R 7,000
7hH 71& 310—01 160,000€ x 147 x 23] = 4,480
) =3 310-01 |90,000€ X 14 X 24| 7k= 2,520
5) WA RLFTY 210—-12 |250,00091 X 8% = 2,000
6) AHFEE 7R 2,572
7hH AFE (EA) 430-01 |900,000¢1 x 2t = 1,800
W) X e et 430-01 |350,0009 x 1t} = 350
h w3 430-01 [211,0009 x 2t = 422
FASEAR L 17,820 19,632 A1,812
\1, 2 8AFSY 17,820 19,632 A1,812

8/35




A% )
ﬂ;:r PRSIL == RENE 2017 (A) | 2016€(B) | Z7H(A-B)

7h ST SA QA E A AR 17,820

1) e1AH 110-03 |25,0009 X 59417k 109 = 14,750

2) 4=3]oin] 220-01 |20,0004 x 1353] = 2,700

3) 743 320-04 |14,750,0009 X 1.5%= 222

4) A AR 3 320-04 [14,750,0009 X 1%= 148
EZg&AAAA 121,085 0 121,085
1. 337 (F) A MA 121,085 0 121,085

7h wA R R 95,885

1) Fol= 420-03 |791,0009 X 41.8m'= 33,040

2) F-olo]= 620—11 |791,0009 X 79.5m= 62,845

L e g R RAREIRS 25,200

1) Folol= 620—11 |1,680,0009 X 15m'= 25,200
5 325,260 322,560 2,700
o) ul AL B Z AL 175,500 172,800 2,700
1. Yol w A 2,350 0 2,350

7h AN A 2,350

1) S98% 210—-01 |40,000€l X 10%= 400

2) LAY 210-01 |50,0004 X 10%-= 500

3) 21H] 210—04 |7,0009x10% x 43]= 280

4) Z:uhn) 210-04 40,0009 %10 = 400

5) AR (AW 250

7p 7%= 210-06 |160,0009 x 1% = 160

W) 23 210-06 90,0009 %19 = 90

6) AN 210—-15 |40,0004 X 107 = 400

7) ¥2)3] 230-02 15,0009 x84 = 120
2. dojml WAl AN 173,150 172,800 350

7}, H 122,100

D153 110-03 |2,500,0009 % 17 x39= 7,500

2) 2+%3 110-03 |2,300,0009 %3 x 129 = 82,800

3) 25& 110-03 |2,200,0009 %178 x994= 19,800

4) A L2 110-03 [100,0009 x 49 x 129 = 4,800

5) &3R4y 110-03 [150,000€ x 49 x 129 = 7,200

- B5-REEEAN - Ao g - Aol AL N ZRAE
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718y A Rk u S X E A (9] - A )
[e) 1=}

wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)

U, Feelxg 110-03 |400,00090 X 47 x 129 = 19,200

o, A2+ 210-15 |300,0009 x 1% = 300

2}, 237 210-15 |1,650,0009 x 1% = 1,650

ul B3 e 8,600

1) ATFA kA Q) 210-15 |1,300,0009 x 1% = 1,300

2) A A k1 2] 210-15 |2,000,000¢ x 37 = 6,000

3) AlekgrE A ¢n) 210-15 |1,300,0009 x 1% = 1,300

vk, A3 A 210-15 |500,0009) x 47 = 2,000

AL A2 320-05 |2,350,0009 x 47 = 9,400

of. Al 9,900

1) A 320-05 |113,000,0009 X 4.5%= 5,085

2) AR 320-05 |113,000,000¢ % 3.06%= 3,458

3) w27 2 FHF 320-05 |3,458,0009 X6.55%= 227

4) AR 320-05 |113,000,000¢ X 1%= 1,130
PEXSEES R SA)] 149,760 149,760 0
1. GAETz 1AL 149,760 149,760 0

7h TR 9,080

1) $9eE 210-01 40,0009 x21%= 840

2) WA 210-01 40,0009 X 40%-= 1,600

3) Ay 210-01 10,0009 X 3v] X 52| 3k= 1,560

4) AN (EUAR) 210-06 |30,0009 x 47 x 134 7k= 1,560

5) Aan) 210-12 30,0009 x40% = 1,200

6) 2] 310-01 |7,0009 X 40% x 78] = 1,960

7) 7+ 310—01 3,000¢ x40 x 33] = 360

L}, gl 9] 9] o] 71 5L 903 70,680

1) $9eE 210-01 32,0009 X307 = 960

2) At 210-06 |40,00091 x 273 = 80

3) &A= Sn) 210-13 1,910,0009 x30% = 57,300

4) Q& WA} 9o n) 220-02 |5,000,000¢ x 27 = 10,000

5) &3 230-02 |15,00091 x 87 x 28] = 240

6) WEH) 310-01 |50,0009 x 307 = 1,500

7) 2] 310-01 |7,0009 X307 x 28] = 420
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718y A Rk u S X E A (9] - A )
2] 20 [} IE]
wopry 13 | 23| AT RENE 2% SERE 20179(A) | 20169 (B) | Z3HA-B)
8) 7HAIn 310-01 |3,0009 X 30% x 23] = 180
ot dojvlshd ol mS 70,000
1) $ojg=x 210-01 20,0009 X 7 x 23] = 280
2) &9]3] 230-02 |15,0009 x 8% = 120
3) T2 790l 620-03 |5,800,0009 x 1231 = 69,600
et w S FA A Y 77,465 72,664 4,801
FTRG N B X By DA Y 41,670 36,869 4,801
1. Z 478k 1,616 2,490 N2
7t AegEdud A 1,616
I 210-01 |20,0009 X 15% x 23] = 600
2) Y8 210-01 |14,0009 x 31 x 8A| 7= 336
3) 7HAIn)| 210-04 |3,0009 x40 x 23] = 240
4) A (dHh) 440
7p 7= 210-06 |70,0009 x 27 x 23] = 280
W) 23 210-06 |40,0009 x 27 x 24| 7= 160
2. WA FA}L 40,054 34,379 5,675
7F. HHA AR KA 1] 39,534
1) 7|27 110-02 |1,602,0009 %1% x 129 = 19,224
2) A7 ZEIAE 110-02 |240,0009 x1 x12¢¥= 2,880
3) 7}E=2g 110-02 (80,0009 %1% x128= 960
4) [ER ZH) 110-02 60,0009 X149 x 128= 720
5) F21H] 110-02 (80,0009 %1% x128= 960
6) AxFot 110-02 (62,9509 x 1% x 202 = 1,259
7) ARTR I 110-02 11,7479 %1% x 4154 2k= 4,876
8) A7 o]+ 110-02 250,000 X 1% x 28] = 500
9) WA E 7 110-02 500,000 x 19 x 23] = 1,000
10) =38 E A n) 240-02 |400,0009 x 1% = 400
11) §2= 320-04 |3,400,0009 x 1= 3,400
12) Zuldd= 320-04 |32,671,6009 % 4.5%= 1,471
13) AR 320-04 |32,671,6009 X 3.06%= 1,000
14) »=AA7) QoFH 3 320-04 |1,000,0009 X 6.55%= 66
15) 1413 320-04 |32,671,6009 % 1.5%= 491
W% - FOlREEEAS — B -SEBEAY - ALK VAN - Fa A LGN AL 11/35




714 - AR =Rt S A A (h9] @ H9)
| o =]
wopvy S0 | 2R | AT Aripel %A% AU 2017 (A) | 20166 (B) | S7(A-B)
16) A2 320-04 [32,671,6009X1%= 327
(B =i PAR=DARCERE) 220-01 20,0009 X 17 x 263] = 520
AB T AT H 152 A 35,795 35,795 0
1. e A 2 ) 3] 2,795 2,655 140
7t e F o) 3 2,795
1) 298=% 210-01 30,0009 X 20% x 23] = 1,200
2) 2lH] 210-04 |7,0009 X209 = 140
3) AAFR 1,080
7H 7]% 210—06 40,0009 x 9% x 23] = 720
W) x3 210-06 |20,0009 x99 x 24| 7k= 360
4) 93 230-02 15,0009 x 25 = 375
2. [ HFA 33,000 33,140 A140
7t A A A7 A st E 3,000
1) S98= 210-01 20,0009 X 15% x 53] = 1,500
2) 393 230-02 15,0009 X209 = 300
3) HAH] 310-01 |3,0009 X80 x53]= 1,200
L PR E A S 30,000
1) e g4« 25,000
7hH 253w 620—03 | 1,250,0009 x151.= 18,750
) Z=8kw 620—03 1,250,000 X51= 6,250
2) A S s dAT 5,000
7hH 99 210-01 |28,0009 X 7&E= 196
W dus 210-01 |14,0009 x 31 x 12A]7k= 504
th) A (dRh) 1,500
(1) 71& 210-06 [160,0009 <29 x 33]= 960
(2) =7} 210—06 [90,0009) x 27§ x 3A]3k= 540
b 2kl xtw 210-07 500,000 x 1] x 23] = 1,000
ub) A3 n] 210—15 15,0009 x 409 = 600
up) & 9] 3] 230-02 15,0009 x40 x 23] = 1,200
g RI TGS 4,800 5,028 A228
S AT TE 4,800 5,028 A228
1. AAGAH LEAH A Y 4,800 5,028 ~228
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Fetw 54 4% c )
=) A+ .
i NERE Y SENE 20179 (A) | 2016W(B) | Z@(A-B)
A A
7} QIE| Y E A1) 210-02 [400,0009x12¥= 4,800
A& oSy s 112,988 69,068 43,920
A AT I}A L 42,988 1,468 41,520
1. AT SAAHLY 42,988 1,468 41,520
7} 9 S84 3t 210-12 [40,0009x1,038% = 41,520
L AS WA A 1,468
1) $98F 210-01 |20,000¢ x 407 = 800
2) A2 A = 210-01 |5,0009 X 40%= 200
3) 9w 210—-01 |14,000¢ X 37| X 44| 7= 168
4) ZArE (AN 300
7h 7] 210-06 100,000 x 2= 200
W} 23 210-06 |50,00091 x 2% = 100
ASSAHEERY 70,000 67,600 2,400
1. $AFELY 70,000 67,600 2,400
7t SAFEED 50,000
1) 258w 620—03 400,000 x 707 = 28,000
2) Z&u 22,000
7hH 29 620—03 |400,0009 x 457 = 18,000
) A 620—10 400,000 X 107 = 4,000
. A A S A S A 20,000
1) 258w 620—03 |4,000,0009 X 1= 4,000
2) 16,000
7h 29 620-03 |4,000,000¢ X 4il= 16,000
ERIER Y 15,535 16,471 £~936
R nsaA s 14,640 15,576 ~936
1. d53ey 8,640 9,576 £~936
7t FerEd A 3 2,290
1) $98% 210-01 |20,0009 X 25% x 28] = 1,000
2) AAFE 210-06 |40,00091 x 3% x 23] = 240
3) Z=el A a 210-07 |600,0009 x 1t]= 600
4) 393 230-02 |15,0009 X 15 x 28] = 450
L WAbgr o] dolg g 6,350
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A=)
Eij} ﬂ% ARl =S -1 Az o 2017d(A) | 2016(B)

1) $o3g=x 210-01 |200,000€ X 20%= 4,000

2) A 240

7 7= 210-06 40,0009l x4 = 160

W) %3 210-06 |20,00091 x 4= 80

3) A|Ael A= 210-07 |1,000,00091= 1,000

4) 93 230-02 15,0009 x 208 = 300

5) 2] 310-01 |7,000€1 x 30 = 210

6) 7HA1H] 310-01 |3,0009 x 2009 = 600
dsgdsA A 2,000 2,000

7} RSl EA e ST 2000

1) daAA" Y 210-01 |20,0009 x 20 x 53] = 2,000
3. ojdo] 7| d A=A 4,000 4,000

7}, o] @ o) )AL 210-01 |200,0009 X 15% = 3,000

o st opd At 1,000

1) S99% 210-01 |20,0009 x 25%= 500

9) A}l a 210-07 |500,00041x 1t}= 500
eS| FFRI T A &2 A 895 895
L BE 3l 2E7 P w52 473 895 895

7t ol g el Eeh7] v 8] 895

1) $ogx 210-01 |20,0009 X 20% = 400

2) A5 500

7P 71 210—06 [40,0009] X593 = 200

W %3 210-06 |20,0009 x5%= 100

3) g3 230-02 15,0009 x84 = 120

4) 7424 310-01 |3,00091x25% 75
SRR EA = 4,337 4,337
SuFH g 4,337 4,337
1. SRR B 2.144 2144

7h mA A o) b i & A A 21

1) 2] 210-04 |7,0009 x 88 = 616

2) 7HA1H] 210-04 |3,0009 x 88 = 264

3) A7 210-07 |500,0009 x 2t} = 1,000

Bi% - BF-SEEEAY - SABAE - Ty
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b x] % (9] - A )
9] Al - A4 == A5 ArEU Y 20179 (A) | 20169(B) | S (A-B)
AFA AHA

4) A3 210-15 |3,0009 x 88 = 264
2. S Z oA ukx] g 2,193 993 1,200
7k S el gl 993
1) $98F 210-01 |20,0009 x15%= 300
2) 915 210-01 |14,0009 x 3v] X 44 7k= 168
3) ZdAE (LR 300
7h 7] = 210-06 |100,000¢ x 174 x 28] = 200
W) =3 210-06 |50,00098 X 17 x 24| 7k= 100
4) o3 230-02 15,0009 x15%= 225
U FeudAdA = 1,200
1) $98= 210-01 |20,0009 X 15% x 23] = 600
2) SrwZEEA T A QE 210-02 |25,0009x129= 300
3) &9l 230-02 15,0009 X 107 x 23] = 300
1 PAR= R R 169,041 164,837 4,204
AT EFTA A 169,041 164,837 4,204
1. Y (Wee) Z2AELY 169,041 164,837 4,204
7}, e1An] 109,133
1) AZd A 82,911
7hH 718 EF 110-02 [1,977,91094 x 38 x12¢¥= 71,205
W) Azt 110-02 65,1009 x3W x 159 = 2,930
o A2 110-02 12,2109 x 3% X 120A]3b= 4,396
Zh) FAn] 110-02 80,0009 x3W x 129 = 2,880
nh) A 7)Ao 110-02 |250,000¢ X 3% x 23] = 1,500
2) A}3]E A A} 26,222
7hH 71EF 110-02 [1,871,0009x 18 x12¥= 22,452
W) Azt 110-02 61,6009 x 18 x15%= 924
o) A2 110-02 11,5509 x 1% X 12041 t= 1,386
Zp) FAn] 110-02 80,0009 x 18 x129= 960
np) A7) Ak = 110-02 |250,00091 x 1% x 23] = 500
v A 11,198
1) =uad 320-04 [109,136,0009 x4.5%= 4,911
2) A7 K3 320-04 |109,136,000€ X 3.06%= 3,340

- -G BEAA -

FEEA D - A REA 9
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GLE

AU S s A= 2017 (A) 2016 (B) =

3) =91 AV|QokR T 320-04 |3,340,0009 X 6.55%= 219
4) 14K 320-04 |109,136,0009 X 1.5%= 1,637
5) AR B & 320-04 |109,136,0009 X 1%= 1,091
o A& 8,610
1) AEAFCA} 320-04 (2,182,000 x 3% = 6,546
2) A}3|E2| A} 320-04 |2,064,0009 x 1% = 2,064
g}, AEAFThol 252 3] o] 1) 220-01 |20,0009 x 47 x 1208] = 9,600
o}, $-odn) 30,100
1) $99= 210-01 |20,0009 x 12% % 108] = 2,400
2) P ET= 210-01 100,000 x 43 = 400
3) T3 A A 210-02 |250,0009 x 129 = 3,000
4) g 790y 210-12 |2,600,0009 x53]= 13,000
5) Ag A 210-12 |150,00041 x 23] = 300
6) Al %) 5 Amn| 210-12 |900,0009 x 5% = 4,500
7) ERLEA A 210-15 |700,0009 x53]= 3,500
8) Z=yu A 210-15 |250,0009 X 43]= 1,000
9) &14=H| 210-15 |500,0009 x 4= 2,000
v}, 2R S1) 400
1) 327 430-01 |400,0009 x 1= 400

50,000 50,000

5 50,000 50,000

AZAYEZZ RS 50,000 50,000
7}, 258w 620-03 |2,500,000¢] x 8= 20,000
U, =8ty 30,000
1) 29 620—-03 |2,500,000¢] x 8= 20,000
2) A 620—10 |2,500,0009 x 4i1= 10,000

1,668 1,668

=R DR 1,668 1,668

1. F7trEe A3 =37} 1,668 1,668
7h w7k F = 1,668
D SodgxE 210-01 |27,0009 x4%= 108
2) A8l 210-06 |40,0009 x 6 x 23] = 480

W - ol 2T T UH - WF- A - syt - st g vt 16/35




AR Rt S A Y GREIE))

o )=
ﬁg E%; ﬂg PR == RESE 20179 (A) | 20169 (B) | Z7(A-B)

3) wolwg|sct 210-06 |40,0009 x 10 x 28] = 800

4) 2| 210-04 |7,0009 x 207 x 23] = 280
B A9 24 w3 1,370 1,170 200
S A| 3 Q) A & 7l 1,370 1,170 200
1. ZRAEAFAFLIA Y 1,370 1,170 200

7t S Al @ 7 s e 1,370

1) AAA g5 e 210-01 12,5009 X 4009 = 1,000

2) At 210-06 |80,00091 x 27 = 160

3) & 9] 3 230-02 15,0009 X7 x 23] = 210
ASEX A 3,356,380 1,901,323 1,455,057
WIEE 783 204,000 204,000 0
W5 gy 204,000 204,000 0
1. 4=t A st 9 160,000 160,000 0

7h g -G ) 140,000

1) 2%38kw 620-03 |4,000,0009 x 221.= 88,000

2) Z8tw 52,000

7H 34 620-03 [4,000,0009 X 91.= 36,000

W} A 620—10 |4,000,0009 X 4L 16,000

v WS aol w9 20,000

1) 258w 620-03 |2,000,0009 X 7iL= 14,000

2) Fsri 6,000

7hH 29 620-03 |2,000,0009 X 23L= 4,000

) A 620-10 |2,000,0009 x 1= 2,000
2. EExg A 44,000 44,000 0

7t e n e 44,000

1) 258w 620-03 |2,000,000¢] X 221L= 44,000
ZF224 2,928,480 1,555,573 1,372,907
7|5 g4 8 A 2,928,480 1,555,573 1,372,907
1. FolxR g F2 2,698,708 1,320,747 1,377,961

7} 629 620-03 102,923,0009= 102,923

U xS8km 620-03 |1,030,971,0009= 1,030,971

t} =3 251,344
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CA)

AFA U < A5 =Y 2017 (A) | 20161 (B) Z(A-B)
1) 29 620-03 121,175,000 = 121,175
2) AHY 620—10 130,169,000 = 130,169
g2 15syw 1,313,470
1) &9 620-03 |559,550,000¢9= 559,550
2) A 620—10 |753,920,0004= 753,920
2. A AFAEA L 229,772 132,128 97,644
7t 8X Y (&)= 620—03 12,195,0009= 12,195
U 2530 (F7)%) 620-03 |72,837,000¢1= 72,837
o}, Z8kw 61,954
1) 39 (97%) 620-03 |10,118,00091= 10,118
2) 3 (F=9h) 620—03 10,834,0009= 10,834
3) A (7)) 620—10 14,810,000¢= 4,810
4) A (F52k) 620—10 |36,192,0009= 36,192
2t 15En 82,786
1) 2 (&7]%) 620—03 458,0009= 458
2) 3 (¥ 620—03 46,389,0004 = 46,389
3) AMY (F352k) 620—10 |35,939,0009= 35,939
DS ANA 100,000 0 100,000
RTATIA = 2 ki S R 100,000 0 100,000
1. 58X d 100,000 0 100,000
7b s ELEET 100,000
1) Pk s34 40,800
7hH 8% 210-01 [40,0009 X 155 x53]= 3,000
W 2Rz e 210—07 600,000 x 1] x 33] = 1,800
th 2n) 310—01 |7,000€ x40% x 53] = 1,400
2 7] 310—01 3,000 x40 x53] = 600
uh) WS L- X 620—03 2,000,0009 x 17 1= 34,000
2) wAAFgsAT 8,550
7hH &9 8% 210-01 [40,0009 X 10% x 53] = 2,000
h 21n) 210-04 |7,0009 x50% x 53] = 1,750
o 22 210-07 |600,0009 x 1t x 33]= 1,800
2}) A (L 3,000
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At < A& AU S 2017d(A) | 20169 (B)
(1) 71% 310—01 100,000€ x 4% x 53] = 2,000
(2) =3 310—01 50,0009 X 4™ X 5A]7}= 1,000
3) S Fote ¢ 32,800
7hH 9 LE 210—-12 350,000 X208 = 7,000
) A (LR 310-01 |50,0009) x 207 x 23] = 23,000
th 21n) 310-01 7,000€x100% x43]= 2,800
4) ofu|t)etgote] Y 7,450
7h) ZdAkr (4R 6,750
(1) 71% 310—01 100,000€ x 39 x153] = 4,500
(2) =3 310—01 50,000¢ X 39 X 15| 7k= 2,250
Lh 21H) 310—01 |7,000€ x 257 x 43] = 700
5) v H A 10,400
7hH & e= 210-01 50,0009 X 18% x 23] = 1,800
W) vlS sl x Y 210—13 4,000,0009 x 28] = 8,000
h &9 3 230—02 15,0009 x 207 x 23] = 600
ASEZ S 123,900
AR 123,900
 AFEA S A GA Y 123,900
7 AEBA AT A Y 118,900
1) 258w (1w) 620—03 |47,800,0009= 47,800
2) AFE(11) 620—10 |71,100,0009= 71,100
U IS EA) 90 4] 941 5,000
1) ZEEAAY ¢ 1,500
7hH & g= 210-01 20,0009 X 10F= 200
wh zpEA = 210—01 10,000€ x 20%= 200
th A S} 210—06 80,000€ x5 x 23] = 800
2h) 393 230—02 15,000€ x10% x 23] = 300
2) WHEAFEAY 1,780
7hH 9 LE 210-01 [20,000€9 x14%= 280
1)) AlH] 310-01 |7,0009 X207 x93]= 1,260
th) 7F2n) 310-01 |3,0009 x 20% x 43]= 240
3) FolEAAT LY 1,720
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(9] : 2 9)

?}2 AFduy el R 171 A&l 20179 (A) | 2016W(B) | F#(A-B)
7h A (4R 1,000
(1) 71& 210-06 |100,00091 %59 = 500
(2) =3} 210-06 |50,0009 x5 x 24| k= 500
W da= 210-01 |14,000€ X 31 X 10A]2t= 420
T} 214 310-01 |7,0009 %10 X 33]= 210
2h) 7HAH] 310-01 |3,0009 X 10% x 33] = 90
/A ST 56,259 473,860 2417,601
B AR 6,311 7,066 AT55
1,276 1,193 83
HAZSHAHSY 1,276 1,193 83
b RATALAS L.176
SR 210-01 20,0009 X 5% x 43| = 400
2) g 210-01 |14,000€1 x 3w} X 8A|3k= 336
3) A (b 440
7h 7)1 210-06 |70,0009 x 19 x 43]= 280
) =3} 210-06 40,0009 X 17 x 4A|3k= 160
U, pEokELel 210-01 |10,00091 X 10%= 100
e DR 5,085 5873 £838
1. nHE=E77 420 420 0
7b. ERFAFAN 120
1) $98% 210-01 [10,0009 x4Fx23]= 80
2) ArGT R 210-01 /10,0009 % 343]= 340
ST AA8E 5 4,615 5,453 ~838
7h, St a7 9149 891 9 3] 4615
1) ZAg} 210-06 |80,0009 x 117 x 43]= 3,520
2) 93] 230-02 |15,000€ x 157 x 33| = 675
3) 2u) 310-01 |7,0009 x 159 x43]= 420
FA 7 31,993 448,839 7416,846
2,634 3,261 ~627
FH TSR LY 2,634 3,261 7627
7h S AR AR A S 868
1) $98= 210—01 [20,0009 X 10& X 23]= 400
L - FoldxZFEuSH — B 1485 - F4 98 - duds 20/35




Wi 5] 2% (5] : 29)

o =]
?};3 ﬂg ApeI e ERpS R Az 20179 (A) | 2016 (B) | =7H(A-B)

2) A= 210—01 14,0009 x 34 X 4A] k= 168

3) A (A 300

b 7= 210-06 |100,00091 % 11 x 23] = 200

) =7 210-06 50,0009 X 1% X 2] 7}= 100

st ge 1,766

1) uAEAALE 210-01 |131,0009 X 1&= 131

2) 9|3 230-02 |15,0009 x99 = 135

3) AT (431) 310-01 |50,00091 X 159 x 28] = 1,500
&3 A 8o 29,359 29,359 0
1. S Fa e Al 29,359 29,359 0

7} FA 2}k v 620-03 |2,669,000¢ x 11tj= 29,359
BEASH ST 17,955 17,955 0
A5 32 4 17,955 17,955 0
1. AZ23AS 0 3 3,600 3,600 0

7h A= 2d A S S 3,600

1) 23170 310-01 |300,0004 x 6% = 1,800

2) Mwi 310-01 |100,0009 x 183 = 1,800
2. 7|€H41 &) 3] 14,355 14,355 0

7h. g o) 2 3,000

1) )3 3,000

b &9 eE 210-01 |40,0009 x 25%= 1,000

W) Aaey 210-06 40,0009 X157 = 600

th &3] 230-02 |15,0009 x40 = 600

b 2] 310-01 |7,0009 X 407 x 23] = 560

ul) 7F21n] 310-01 |3,00091 %407 x 23] = 240

L} w57 o) 8 5,000

D &3t 2] 5,000

7hH L98E 210-01 40,0009 x 25%= 1,000

W) 2=das 210-07 400,000 x 3t} = 1,200

th An] 310-01 |7,0009 %100 x 23] = 1,400

b 7HAH] 310-01 |3,0009 %1007 x 23] = 600

ul) Uk 310-01 |40,0009 %104 x 2= 800
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719 At RSx4 (Sl @ H9)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
o} A A5 2] 1,200
1) 2998= 210-01 30,0009 X 20%= 600
2) 323 230—02 15,0009 x40 = 600
2}, &7 smh ) ) 8 5155
1) £98= 210-01 40,0009 x 25%F= 1,000
2) AFEn) 210—01 100,000€8 x 10" = 1,000
3) 2] 210—04 | 7,0009 x 280 = 1,960
4) Adrwd 600
7hH 718 210-06 40,0009 x 109 = 400
) x3% 210-06 20,0009 x 107 = 200
5) AlAdAdxtE 210-07 595,000 = 595
St A A A B 13,741,468 14,919,164 A1,177,696
st 9u| A Y 6,664,919 7,843,939 A1,179,020
A B=) PO | 6,664,919 7,843,939 A1,179,020
1. 8w 7| 8- 6,568,564 7,752,618 A1,183,954
7F S-x9 620—02 939,259,000 = 939,259
L} 25k 620—02 |4,200,986,0009 = 4,200,986
o}, =8k 620—02 |1,428,319,000¢ = 1,428,319
2. a7 el 9| XY 96,355 91,421 4,934
7}, w5 e EARTY 64,010
1) =53t (61) 620—04 [64,010,0009= 64,010
(B[ ARE B | 32,345
1) 253w (31) 620—04 [32,345,0009= 32,345
AFerA A R 9 7,076,549 7,075,225 1,324
AAN AR AETA Y 5,923,213 5,782,484 140,729
1. QA8 AMA AT ZE 5,923,213 5,782,484 140,729
7} a1 An A Y 620—08 |5,923,213,0009 = 5,923,213
T AREFEA L 1,153,336 1,292,741 ~139,405
LS9 ARA AT R Z 1,153,336 1,292,741 A139,405
7}, w7 B89 H] 620—09 [1,153,336,000¢= 1,153,336
st w S AN HA AL 4,713,914 3,575,711 1,138,203
A RS AR ] 220,422 0 220,422
WL - Fold2FERLS - SRTHAAANANA — ST AWMAY 22/35




(9] - )

o )=
o | A Apgiune] %A% ESE 20174 () | 20169(B) | F%(A-B)

St A S ANF 220,422 0 220,422
1. 95373 () A 220,422 0 220,422

7t FAPZTHE A 3 A 2] - 1 A 220,422

1) AAMm] 420-02 207,830,0009) X5.339%= 11,097

2) AlAdH) 420-03 207,830,000 X 1 %= 207,830

3) A H-n8] 420-05 [207,830,00091X0.719%= 1,495
AESAMNANA 4,493,492 3,531,185 962,307
sty A -SSR NA 4,493,492 3,531,185 962,307
1. ZAd A 1,201,975 1,745,582 A543,607

7}, vpet 134,280

1) AN 134,280

7H $IEx 420—03 [14,920,0009 x92= 134,280

|5 e 319,886

1) AlAdn] 317,600

7hH EXAs A A 420-03 19,850,000 x 164 = 317,600

2) AlH-tin] 420-05 [317,600,0009 x0.72%= 2,286

=R 54,740

1) Aldn] 54,740

7hH WAz 420-03 |3,220,0009 x 84 = 25,760

W) &% 420-03 [3,220,0009 X 94 = 28,980

g} A3 96,390

1) Al 96,390

7hH F-9ka 420-03 13,570,000 x 172 = 60,690

h FolodA) 420-03 3,570,0009 x 104 = 35,700

vl W4 56,014

1) Al 56,014

7hH WEx 420-03 8,002,0009 x 24 = 16,004

) Febsx 420-03 8,002,0009 x 42 = 32,008

o)) Hetx 420-03 [8,002,0009 x 14 = 8,002

vh, Q¥ B 4= 139,902

1) AAm] 420-02 134,560,000 X 3.132%= 4,215

2) A 134,560

o
B
Ho
|
0
et
5
=
k£
fo
2
i

AN — BEBAAAAAL - A A& A
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(9] - A
A S == A5 AU S 20179 (A) | 20169(B) | S (A-B)

b ZFEA =R} 420-03 |8,410,0009 x 162 = 134,560
3) A|AlXRgyn) 420-05 |134,560,0009 X 0.838%= 1,127
Ab =R 179,850
1) A|Adn] 179,850
7h ks E (95 420-03 |2,150,0009 x 792 = 169,850
) okl 3 (9]3) 420-03 |500,000¢] x 204 = 10,000
o}, A& 27,780
1) A|Adn] 27,780
7h HAbE 420-03 |9,260,0009 x 34 = 27,780
2k WA H S 193,133
1) AAm 420-02 |181,550,00091 X5.627%= 10,216
2) A|AH] 181,550
S S 420-03 |72,620,0009 x 2.5 = 181,550
3) A 420-05 |181,550,0009 X0.753%= 1,367

2.9 - YA A A 825,538 825,538
7ho - A 825,538
1) AAm 420-02 |787,320,0009 X 4.2%= 33,068
2) A AN 787,320
h AEXx 420-03 [6,910,0009 x 24 = 13,820
) E2x% 420-03 |6,910,0009 x 42 = 27,640
o)) wEx 420-03 [6,910,0009 x 42= 27,640
Zh) Harx 420-03 |6,910,0009 x 22 = 13,820
p) A= 420-03 |6,910,0009 x 14 = 6,910
vl ol 420-03 |11,430,0009¢ x 2021 = 228,600
AP FobA| el 31 420-03 |11,430,0009 x 1821 = 205,740
of) H-qroj 420-03 |11,430,0009 x 204 = 228,600
2} EFAERFE 420-03 |6,910,0009 x5 = 34,550
3) A]AE )] 420-05 |787,320,0009 X 0.654%= 5,150

3. A tAMA 1,412,733 303,815
7t W2 w7 206,394
1) AAH] 420-02 |194,378,0009 X 5.452%= 10,597
2) Al’dn] 194,378

m

AN — B ANAANNE — St A w2 A
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AR S L |4 A=Y o 20173 (A) 2016 (B)
7h AEx 420-03 [124,0009 x1,567.5m'= 194,378
3) Al F-on] 420-05 |194,378,000€¢1 X0.73%= 1,419
v s 60,000
1) Al 60,000
7h #HAx 420-03 |6,000,000¢ X 27 &= 12,000
W A= 420-03 [6,000,0009 X 67 &= 36,000
o) Hol% 420-03 |6,000,000 X 27} 2= 12,000
o AWEE 29,706
1) Al 29,706
7h Febsx 420-03 |29,706,0009 x 14 = 29.706
2k A (A ) A 1,021,540
1) AAm] 420—02 976,680,000€) X 3.959%= 38,666
2) Al 976,680
7h WAz 420-03 |9,120,0009 x 124 = 109,440
) ®AAER () 420-03 |11,080,000¢ x 54 = 55,400
) ExXx 420-03 |9,120,0009 X 102 = 91,200
) X2 FHAS) 420-03 |11,080,0009 X104 = 110,800
up) F-eba (HAS) 420-03 |11,080,0009¢ x 92 = 99,720
B HokAd 1 420—-03 19,120,0009 x 134 = 118,560
AR F-EAA 1 (H A4S 420-03 |11,080,0009 x 321 = 33,240
o) F-qroy it 420-03 19,120,0009 x 164 = 145,920
Zh) F-Qbo 3 (H7d3) 420-03 |11,080,000¢ X 64 = 66,480
2} EXAFAS 420-03 ]9,120,0009 X164 = 145,920
3) ATt 420-05 |976,680,0009 X 0.634%= 6,194
el R R B e 28,012
1) AxXx 420—01 [4,0009 x982m'= 3,928
2) THx% 420-01 |4,000€ X 760m'= 3,040
3) ZA% 420-01 |4,00091 % 1,654m'= 6,616
4) MNP x 420-01 [4,0009x172m'= 688
5) WEx 420-01 |4,00090 % 176m'= 704
6) Tz 420-01 |4,0009 X675m'= 2,700
7) Ftex 420-01 [4,0009%1,738m'= 6,952

m

A = EFAFNAAAL — StwA A w537 Al
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R

A S == A5 AU S 2017 (A) | 20169(B) ZH(A-B)
8) A= 420-01 [4,0009 X 260m'= 1,040
9) 4% 420-01 |4,0009 x413m'= 1,652
10) WAL 420-01 |4,0009 x173m'= 692
H, S o] EHA 67,081
1) A Am] 420-02 |62,055,0009 X 7.064%= 4,383
2) Al 62,055
7hH F-qkE (AFE]) 420-03 164,0009 X 153.7m'= 25,207
W) == (AFE) 420-03 1213,0009 X 102.9m'= 21,918
th) FARS (AFE) 420-03 164,000 x91m'= 14,930
3) Al 420-05 |62,005,0009 X 1.037%= 643
4. I F-FAHNA 156,069 144,849 11,220
A=y 37,772
1) AlAdn] 37,772
7h) HEx 420-03 |284,0009 x133m= 37,772
B 78,000
1) AlAdn] 78,000
7Y Axx 420-03 (80,0009 x600m'= 48,000
W) WAL (FAAAE 420-03 |150,000¢ X 200m'= 30,000
o} e AEANA 39,000
1) Aldn] 39,000
7h &A% 420-03 |156,000€] X 250m= 39,000
2}, A o] 420-05 |166,132,0009 X 0.781%= 1,297
5. AZ|A1A A 281,371 235,140 46,231
7} 2 A4 (LED) 231,011
1) AlAdH] 229,360
7h WAz 420—-03 2,440,0009 x 194 = 46,360
W) Xz 420-03 |2,440,0009 x 104 = 24,400
= I A 420-03 |2,440,0009 x 184 = 43,920
2h) FkAd 420-03 |2,440,0009 x 164 = 39,040
up) HF-Qkoi At 420-03 |2,440,0009 x 154 = 36,600
v £ X AEAE AL 420-03 |2,440,0009 x 164 = 39,040
2) AR 420-05 |229,360,0009 X0.72%= 1,651

m

A = EFAFNAAAL — StwA A w537 Al
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719 At RSx4 (Sl @ H9)
Z )=
Bopnm f} Z; ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
U A=y A A A 50,360
1) Al 50,000
7h AlskE 420-03 |50,000,0009 X 11= 50,000
2) AR 420-05 |50,000,0009 % 0.72%= 360
6. A NA 588,606 248,656 339,950
- R 588,606
1) A Am] 420-02 |561,117,0009 x4.19%= 23,511
2) Al 561,117
7h F<kx 420-03 |77,120,0009 x 321 = 231,360
W 9= 420-03 77,120,0009 x 24 = 154,240
) s x 420-03 |83,310,0009 x 0.3 = 24,993
2}) 2 (ThEA W 420-03 |115,960,0009 X 0.5 = 57,980
uh) ekx 420-03 |77,120,0009 x1.22] = 92,544
3) ARt 420-05 |561,117,0009 X 0.709%= 3,978
7. A LANA (A 15,840 0 15,840
7t Qb (Aleh) @3k 15,840
1) Al 15,840
7 Mg 620—11 [80,000¢ x198m= 15,840
8. SF-FA N (A 11,360 0 11,360
7k A 11,360
1) Al 11,360
7h g 620—11 |284,0009 X40m= 11,360
S AL ) 480 480 0
EE e 480 480 0
SR A 3 g i DR 480 480 0
FARSFA LD GA ¢ 480 480 0
1. #2523 949339 480 480 0
7}, A et 210-06 |80,0009 6= 480
ZELyt 2,764,392 1,551,446 1,212,946
W53 H LRk 1,140,956 1,138,691 2,265
IEH A7 E Hg 6,140 4,020 2,120
EERENEED! 2,800 2,800 0
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7187 AR R B SA 93 (9] - A )
] A o H
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
1. #297AY5FA3 2,800 2,800 0
7V, FogTFAZE YU 210-01 |6,000€ X 2004%= 1,200
L i LT A R 1,600
1) £98% 210-01 20,0009 X 30%= 600
2) Az A& 210-01 |10,0009 X 100%= 1,000
R RTA Rl 3,340 1,220 2,120
1. ASFHAIG A L #Y 2,120 0 2,120
b B A YN B A3 2,120
1) £98% 210-01 |20,0009 X 3= 60
2) #FA 5 210-06 (80,0009 x 87 x 23] = 1,280
3) oH| 210-06 10,0009 x 8™ x 23] = 160
4) & 23] 230-02 15,0009 x99 x 23] = 270
5) 28] 310-01 |7,0009 X107 x 53] = 350
2. IS A LN TLEYA Y 1,220 1,220 0
7h A HHANG FA 1,220
) $ogx 210-01 |20,0009 x 6%= 120
2) Am A= 210-01 |10,00091 X 35% = 350
3) &93 230-02 |15,00091 %107 x 53] = 750
AFYAZTH 6,500 6,500 0
T EE- ] 6,500 6,500 0
1. Z5ZT R 207} 6,500 6,500 0
VAT e I STAS Eaka Pl ey 6,500
1) A=Az 210-01 |3,500€ X 700% x 23] = 4,900
2) $HoH 210-02 65091 X 4004 x 23] = 520
3) HEST 210-06 40,0009 x 37 x 63]= 720
4) & 93 230-02 15,0009 %67 x 43| = 360
ZFA ) 3,125 950 2,175
AL 3,125 950 2,175
1. AR ZA 825 450 375
7}, A 5] 250-04 15,0009 x 39 x 553 = 825
2. BRI g Y E o433t 2,300 500 1,800
7t AR B0 e ¢ 500
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7187 AR R B SA 93 (9] - A )
o )=
wopvy S0 | 2R | AT Aripel %A% AU 2017 (A) | 20166 (B) | S7(A-B)
1) $98= 210-01 20,0009 x 25%= 500
L AE S 1,800
1) $ojgx 210-01 10,0009 x5 x 43 = 200
2) A2 A2 210-01 10,0009 X 60%= 600
3) ZAAtrE (AR 1,000
7hH 71& 210-06 [160,0009 x 174 x 43]= 640
) x3 210-06 90,0009 X 17 X 4A]7k= 360
IEFAFHA 14,400 13,066 1,334
PANAEFAL 14,400 13,066 1,334
1. &3P A7) 3} 14,400 13,066 1,334
7} EA ] 210-01 20,0009 X507 = 1,000
v = sb Al K ol 2 1,200
1) S98= 210-01 |50,0009 X 12%= 600
2) AFEn 210-01 |200,0009 x 34 = 600
o} A G HF A 12,200
1) AFE (EA) 430—-01 |900,000¢ x13th= 11,700
2) BEAFS7) 430-01 |500,0009 x 1t]= 500
ISPA AR} 22,237 8,987 13,250
ISP AABA AR 22,237 8,987 13,250
1. A28 g ey 21,577 8,327 13,250
7k AR 20,000
1) AALELPCS 210-15 50,0009 X 10% x 53] = 2,500
) AFE (2A) 430-01 900,000 x 18t} = 16,200
8) TES 430-01 |1,300,0009 X 1t} = 1,300
. AAbE - 1,577
1) H/WHA B4 210-09 |19,705,0009 X 8%= 1,577
2. oA {FA & 660 660 0
7} o)X Eel gl A ] A 210-01 |55,0009 x12¥= 660
H] 3o 8] Al &g 1 ek 760 760 0
H 3 v A & L Bl 7 760 760 0
1. vt A L Bt #E] 200 200 0
7h. Ak gh=r E 200

W& - WA - WAYPAN — v ehul A S ek — oA E L w el
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(] A 9)

?34 RE? Apej el ERpS R Az 20179 (A) | 20166 (B) | % (A-B)
H<d A
1) $94% 210-01 |50,0009 x 45= 200
2. eAAE 560 560 0
7} g E 210-01 |50,0009 x 4%= 200
U, 7H240) 210-04 13,0009 X307 x 43]= 360
A A AT 45,754 7,850 37,904
o A 45,754 7,850 37,904
1. 53 A B FR 1,290 900 390
7} o9 210-01 20,0009 X 12%= 240
U A2 A = 210-01 10,0009 X 60%-= 600
o} ¥ 9] 3 230-02 |15,0009 %10 x3%]= 450
2. AFFANAA Y 44,464 5,000 39,464
7h AbAbd A 44,464
1) AFEF(2a) 62011 |44,464,00091= 44,464
A =g 33,051 33,103 A52
Z &AL EZ 7 33,051 33,103 AB2
1. = - ZSAATE 9,720 9,320 400
7V AARNL SRS R 210—-01 |800,0009 X 103]= 8,000
U oA A 0] 8] 24 SRk 210-06 (80,0009 x 47 x 28| = 640
t}. 92 3 230-02 |15,0009) x 127 x 23] = 360
2}, A 5] 25004 [60,0009x 1% x129= 720
2. HmAAEE 4,500 4,500 0
VAR Erus:) 210-09 |450,0009 x 103]= 4,500
3. LEAA A EF A 3] 1) 18,831 19,283 2452
7}, A A3 A 3 1] 210-02 |18,831,0009 = 18,831
& A v} X] A & 874,342 909,511 A35,169
A ]| x| A 8 B 874,342 909,511 235,169
1. 2822 ¢ 813,530 856,331 A42,801
7h wE b A Q1 210-01 |500,0009 x 23] = 1,000
L St Aqhd 1,000
D) Sogx 210—-01 |20,000€ X 5% x 43]= 400
2) P (b 600
7h 7)1 310-01 |100,000¢ X 1% x 43] = 400
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Al B Az 2017 (A) | 2016 (B)
W) 23} 310-01 |50,0009 X 17 X 44| 3b= 200
o S ARG 197,704
D A ad) 620-03 |7,724,00091= 7,724
2) 28w (234) 620-03 |189,980,000¢1= 189,980
gt EoH 1A 105,000
1) =8 (34912 430-01 |105,000,0009 X 1th= 105,000
al, AW AR (5T)) 210-07 |248,474,0009= 248,474
HE, QB A EARRIZAH] 620-01 |10,848,0009 x 247 = 260,352
2. FAEHR Y 60,812 52,910
7}. F<51) 310-01 [180,00091x3¥ x10¢¥= 5,400
U BIAE A D (470) 620-03 |55,412,0009 = 55,412
o g 5,834 5,834
= 3850 g 5,834 5,834
1. a9 43 e 2,834 2834
7} stae-d 9l AS 281
1) £98% 210-01 28,3009 x20%= 566
2) A} A= 210-01 |10,000€] X 60%-= 600
3) g 210-01 | 14,0009 x 3l X 4A] b= 168
4) 93 230-02 |15,00091 x40 = 600
5) A (LR 500
7h 75 310-01 |100,0004 % 2= 200
W) %3 310-01 |50,0009 x 28 = 100
6) 2] 310-01 |7,0009 X607 = 420
7) 7FA] 310-01 |3,0009 X604 = 180
2. AR FTFAGIHA 4 3,000 3,000
7}, SRR Ao X 9 5000
1) $oe= 210-01 |393,0009 x 43]= 1,672
2) A A= 210-01 10,0009 x 40%-= 400
3) 93w 210-01 |14,000¢ x 3v x 44| 7= 168
4) 7 (A 000
7p 7B 210-06 100,000 x 17 x 23] = 200
W} 23 210-06 |50,0009) x 17 x 24| 7k= 100
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Beb 47 9% (5] : 29)

)=
?}2 ﬂg Apeluj el B AEU 20179 (A) | 20161(B) | £%(A-B)
5) 28] 310-01 |7,0009 x40 x 23] = 560
A A E 128,813 148,110 A19,297
AN AAL B 128,813 148,110 219,297
1. AN 2344 128,813 148,110 719,297
7}, B A Al G-A] g 116,517
1) 25 210-09 |93,475,0008= 93,475
2) A Ta g 210-13 |22,247,0009 = 22,247
3) A ) 420-05 |795,0009= 795
L. 7] @ st Al A A 7,296
1) Hobx 210-13 |608,0009 x 129 = 7,296
o} St A A E s e 7 B e 620—04 |5,000,0009 X 1= 5,000
TR ERY 1,623,436 412,755 1,210,681
7] B9 353,830 308,840 44,990
AEA LR 353,830 308,840 44,990
1. 7| 2221y 27,400 27,480 A80
7h 718789 73 vl 27,400
1) 7] B NG R Z=211] 250-02 |400,0009 x 129 = 4,800
2) 71 #9- G FF7n) 230-01 |21,000,000¢ = 21,000
3) L7 F-F=21] 230-01 (40,0009 x40 = 1,600
2. 71#L3 AN 203,150 171,590 31,560
7 FFeaRAA 50,638
1) S3NADA A== E 210-01 |180,00049 x 13]= 180
2) A7) e+ 210-02 |2,480,0009 x 129 = 29,760
3) Azle= 210-02 |1,260,0009 x 129 = 15,120
4) NErEr e 210-02 |150,0009 x 129 = 1,800
5) $HAw 210-02 50,0009 x129= 600
6) A7 ) AR 210-02 17800091 x 13]= 178
7) A} )] 210-02 |250,0009 x129= 3,000
L. AR 69,480
1) FAAFGA RS 210-09 |2,500,000¢ x 129 = 30,000
2) FAFGA B2 210-09 200,000 x 3524 = 7,000
3) BALEA A 210-09 |200,0009 x 154 = 3,000
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AF A5 Az 2017 (A) | 20169 (B)
4) v 7] 3 4 g0 210-13 |5,000,000¢ x 13]= 5,000
5 HA4rgA 210—13 2,040,0009 x 129 = 24,480
Uh A ] A B 10,008
1) A7 210-09 334,000 x 129 = 4,008
2) v #a 210-09 30,0009 X 40t}= 1,200
3) 2HA A G2 1= 210-13 160,000 x 129 = 1,920
4) A 7]tA A2 o8 210-13 [120,0009x12¢¥= 1,440
5) =77 8-A By 210—-13 120,0009 x129= 1,440
o, A e 16,000
1) &A% 210-06 |50,0009 X 17 x 260 = 13,000
2) FolAn| g 210-13 250,000 x 129 = 3,000
af, 2R 46,044
1) 358 (25,000kmo]’d) 210-10 |8,956,000¢ x 1= 8,956
2) =38 %3(10,000km™] ¥H) 210-10 |6,088,0009 X 1= 6,088
3) Fgajekw A 430-01 |31,000,0009 x 1tj= 31,000
vh, AAA L 700
1) 3E2dE57] 210-04 |7,0009 x50 x 23] = 700
Ab. L RER-d A 1] 4,380
1) HYEIE 210-01 |15,0009x21%x129= 3,780
2) ¥ &) 210-03 |200,0004¢l x 37 = 600
of A2 7 A 5,900
1) A3 430-01 |200,0009 x 10t} = 2,000
2) AAZNAZ=27) 430-01 |2,700,0009 x 1t= 2,700
3) ZUE 430-01 600,000 x 2t} = 1,200
3. 7Bt A &% 21,700
7h A E ok 499 21,700
D T dAA 9,380
7hH A7 QH 210-02 470,000 x 129 = 5,640
W) Asle s 210-02 50,0009 x 129 = 600
) AT o 210-02 100,000 x 129 = 1,200
2}) A3 A ek 210-02 (80,0009 x 13]= 80
) IEETFAE 210-02 |15,0009 <129 = 180
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GO )

A S A= AEUS 2017d(A) | 2016€(B) | T#(A-B)
Hh) A7 PHA RN AT E 210-13 90,0009 x 129 = 1,080
AP AF7) AR 210-15 |50,0009 x 129 = 600
2) A EolAFAGA B 210-09 |300,0009 x12¥9= 3,600
3) B4 ¥ 7,160
7h A 210-06 |50,0009 x 1009 = 5,000
) FelAn) g 210-13 |180,0009x 129 = 2,160
4) AgH] 210—-08 |517EXT7AZEX96Y X3t = 1,040
5) oiH] 220-01 |20,000¢) x 17 x 263]= 520
4, BA 7| B9 AN 101,580 93,770 7,810
7} w5 A A 43,858
1) Yuke-gH] 6,608
7h FA% 210-01 |1,200,000€= 1,200
) 71 210-01 (416,000 x13% = 5,408
2) Eu]Aln) 210-05 |7,0009l X 137 x 403] = 3,640
3) FA] & =70 230-01 |350,0009 x12¢= 4,200
4) on] 28,210
7 T 220-01 [20,000¢ X134 x473]= 12,220
) T 220-01 |40,0009 x 137 x223] = 11,520
hH 9 220-01 |70,00091 % 137 x 53] = 4,470
5) AW FATZ=211) 250-02 |100,0009 x 129 = 1,200
L EREE 57,722
1) LRhe-gH] 12,016
7hH B 210-01 |1,200,0009= 1,200
) 7RI 210-01 416,000 x 267 = 10,816
2) EuAln) 210-05 |7,00091 ¥ 187 x 313]= 3,906
3) FA] & =70 230-01 |350,0009 x 129 = 4,200
4) o3n) 36,400
7 220-01 |20,000€9 X 26 x243]= 12,480
) T 220-01 |40,000¢1 %26 X 163]= 16,640
o T2 220-01 |70,0009 X 267 x 43| = 7,280
5) AW FAFZ=21) 250-02 100,000€ x 129 = 1,200
A7) BA A 1,269,606 103,915 1,165,691

g — 5P AAA 34/35




AR S L |4 A=Y o 20173 (A) 2016 (B)
FA YA #E 1,269,606 103,915

1. X AFA A 1,269,606 103,915
7}, TA-A T 210-09 |300,0009 X 344 th= 10,200
v WA A AA AL S (84 ) 921,776

1) A Am] 420-02 [869,300,0009 x4.101%= 35,650

2) Al 869,300

71 ApElal 420-03 12,230,0009 x 360m'= 802,800

W 71217 420-03 |30,000,0009 X 1 5= 30,000

) Az xH 420-03 73,0009 X500m = 36,500

3) 7+ 420-04 869,300,000 X 1.281%= 11,140

4) A F-in] 420-05 |869,300,0009 X0.654%= 5,686
o} AAFSEE A 190,060

1) A7 (M) A 420-03 |11,080,0009 x 144 = 155,120

2) Mgzl 34,940

7hH Hrdd 420-03 390,000 X 35m'= 13,650

) v A 420-03 |6,890,0009 x 14= 6,890

oh) 2Ed 420-03 |1,800,0009 x 8= 14,400
g} A Fold g A 147,570

1) AR 420-03 5,498,0009 X524 = 27,490

2) B A FE) 420-03 |1,670,0009 X 22 = 3,340

3) E8aAA 420-03 19,740,0009 x 12 = 9,740

4) A el7]o)d 420-03 |200,0009 x 82 = 1,600

5 A RIYR) 420-03 |50,00091 X 500m'= 25,000

6) HiF= 420-03 [220,0009 X 300m= 66,000

7) =440 420-03 |4,0009 x3,600m'= 14,400

7 - LKA BAL - THADY A e
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